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Electric Circuits 2
1. The diagram below shows part of an electrical — [ YYy _'-/\/L—"‘

circuit. What is the current through resistor Ri? l: VAP
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2. What 1s the voltage, V, of the power supply shown i1'1 the
circuit?
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3. What is the total resistance of the circuit?

What is the current through the 100 “v:s,ov
Qresistor?
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4. Calculate the current through the 6.0 Q resistor in & )

4.0Q
the circuit shown. &fv/ v
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PHYSICS 12

4. Calculate the current through the 6.0 Q resistor in
the circuit shown.

VT: Y0 v 00V=
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6. What is the value of the unknown resistor Rxin the circuit
below?

7. What is the current through the 7.0 Q resistor? S,
How much charge flows through the 7.0 [

Q) resistor in a 30 s interval?
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